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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
' 100kN/m%# 2 % 1.00/0.00 ~ 3.92 163.90(3m%#8% 5| 0.00 ~ 1.54 3.80 20.32| 100kN/mM%Z#BZ % 1.00| 10.65 ~ 48.55 163.90| 3m%E#EZ 5[ 25.00 ~ 48.55| 3.80 20.32
Fhst 1.00/3.92 ~ 11.70 100.00f Z#hlust [1.54 ~ 11.70[ 3.00 16.05 st 1.00| 5.00 ~ 10.65 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
5 100kN/ Mm% 2 % 1.00/0.00 ~ 3.98 165.15(3m%E#8% 5| 0.00 ~ 260 4.35 23.25| 100kN/mM%Z#BZ% % 1.00| 11.02 ~ 50.00 165.15|3m%E#EZ 5[ 25.00 ~ 50.00| 4.35 23.25
Fhst 1.00/ 3.98 ~ 11.77 100.00( Zhlust [ 260 ~ 11.77[ 3.00 16.05 st 1.00| 5.00 ~ 11.02 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
- 100kN/m%# 2 % 1.00/0.00 ~ 4.03 165.91(3m%E#E%5(0.00 ~ 261 4.35 23.28| 100kN/mM%#BZ % 1.00| 11.04 ~ 53.98 165.91|3m%E#EZ 5[ 25.00 ~ 53.98| 4.35 23.28
ZFhst 1.00| 4.03 ~ 11.81 100.00( Zhlust [ 261 ~ 11.81[ 3.00 16.05 st 1.00| 5.00 ~ 11.04 100.00f Zxkust | 5.00 ~ 25.00| 3.00 16.05
5 100kN/ Mm% 2 % 1.00/ 0.00 ~ 4.01 165.54|3m%E#E% 5[ 0.00 ~ 250 4.25 22.73| 100kN/mM%Z#BZ% % 1.00| 10.76 ~ 54.00 165.54| 3m%E#EZ 5[ 25.00 ~ 54.00| 4.25 22.73
Zhst 1.00| 401 ~ 11.79 100.00( Zhlust [ 250 ~ 11.79[ 3.00 16.05 st 1.00| 5.00 ~ 10.76 100.00f Zhkust | 5.00 ~ 25.00| 3.00 16.05
; 100kN/ Mm% 2 % 1.00/0.00 ~ 3.92 164.01(3m%E#E%5(0.00 ~ 240 4.16 22.28| 100kN/mM%#EZ % 1.00| 10.61 ~ 51.56 164.01|3m%E#EZ 5[ 25.00 ~ 51.56| 4.16 22.28
Fhst 1.00/3.92 ~ 11.71 100.00( Zhlust [ 240 ~ 11.71[ 3.00 16.05 st 1.00| 5.00 ~ 10.61 100.00f Zhkust | 5.00 ~ 25.00| 3.00 16.05
5 100kN/m%# 2 % 1.00/0.00 ~ 3.31 153.08|3m%E#E%5(0.00 ~ 1.11| 3.51 18.78| 100kN/m%# 2 % 1.00| 10.71 ~ 46.00 153.08| 3m%#E% 5| 30.00 ~ 46.00| 3.51 18.78
Fhst 1.00/ 3.31 ~ 11.09 100.00( Zxlust [1.11 ~ 11.09 3.00 16.05 st 1.00| 5.00 ~ 10.71 100.00f x5t | 5.00 ~ 30.00| 3.00 16.05
9 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
Fhst -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
10 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ D -~ = = =
Zhst -l -~ = -| Fhiist -~ = = = st = -~ = -| Fhiist -~ = = =
" 100kN/m%#B 2 % 1.00/0.00 ~ 2.03 131.43|3m%E#E%5(0.00 ~ 0.58 3.23 17.30| 100kN/m%# 2 % 1.00| 12.67 ~ 44.20 131.43| 3m%E#EZ 5| 40.00 ~ 44.20| 3.23 17.30
Fhst 1.00/2.03 ~ 9.82 100.00( Zhlust [0.58 ~ 9.82 3.00 16.05 FhLst 1.00| 5.00 ~ 12.67 100.00f Zxklst | 5.00 ~ 40.00| 3.00 16.05
> 100kN/ Mm% 2 % 1.00/0.00 ~ 207 132.12|3m%E#E% 5| 0.00 ~ 1.49( 3.57 19.11| 100kN/m%#B 2 % 1.00| 12.64 ~ 50.00 132.12| 3m%E#E% %[ 40.00 ~ 50.00| 3.57 19.11
Fhst 1.00| 207 ~ 9.86 100.00( Zhlust [1.49 ~ 986 3.00 16.05 FhLst 1.00| 5.00 ~ 12.64 100.00f x5t | 5.00 ~ 40.00| 3.00 16.05
e 100kN/ Mm% 2 % 1.00/0.00 ~ 259 140.69(3m%E#E%5(0.00 ~ 0.79( 3.33 17.85| 100kN/m%# 2 % 1.00| 11.58 ~ 44.77 140.69| 3m%E#E% 5| 40.00 ~ 44.77| 3.33 17.85
Fhst 1.00| 2.59 ~ 10.37 100.00( x5t [0.79 ~ 10.37[ 3.00 16.05 st 1.00] 5.00 ~ 11.58 100.00f x5t | 5.00 ~ 40.00| 3.00 16.05
1 100kN/m%# 2 % 1.00/0.00 ~ 1.99 130.78|3m%E#EZB| - ~ = - —| 100kN/M%#8% % 1.00| 12.66 ~ 39.00 130.78| 3m%E#BZ % -~ = = =
Fhst 1.00/1.99 ~ 978 100.00f Zxlust [ 000 ~ 978 2.79 14.93 FhLst 1.00| 5.00 ~ 12.66 100.00f Zhkust | 5.00 ~ 39.00| 2.79 14.93
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBZD ~
Fhst ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ ImERBZD ~
Fhst ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBZD ~
Fhst ~ ZFhLst ~ st ~ ZFhLst ~ |
=EFR




